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Time : 3Hrs. Sem - I/II 

Basic Physics

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Write about production of X-rays.How many types 

of X -ray spectra. 

X -X -

OR

***
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

GROUP - A

At same pressure and in same tube oil flow 
is lesser than water flow due to 
(a) Oil has less density than water.
(b) Oil has greater viscosity than water.
(c) Water has less density than oil
(d) None of these

Which one of the following statement is 
correct
(a) Fluid in turbulent motion becomes stream 
      line flow on increasing velocity.
(b) Fluid in stream line flow cut the locus.
(c) Fluid is in stream lines flow do not cut 
      the locus one another.
(d) None of these

NT120011601101/1602201/P1601101
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6

6

Write the construction working principal of He- Ne

laser 

He- Ne

 

Write the recording and reconstructing of 

hologram by using He- Ne  laser.

He- Ne 

cell.

OR

10.

11.
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(iii)

(iii)

(iv)

(ii)

P.T.O

of in denser. 
(a) Smaller
(b) Greater 
(c)  Equal
(d) None of these

(a) Temperature
(b) Wavelength
(c) Nature of material
(d) All of these
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wire,  when stretched up to breaking point and 

describe each and every point on graph. 

Write the factors affecting elasticity and define 

ultimate stress and breaking stress.

OR

9.

6
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(iv)

(v)

(v)

(vi)

Which statement is true?
(a) Larger the wavelength narrower the 
      fringe  width.
(b) Larger the wavelength larger the fringe
      width.
(c) Fringe width does not depend upon 
      wavelength.
(d) All of the above

(a) Diffraction 
(b) Reflection
(c) Total internal reflection
(d) Interference

NT12001



NT12001161601101/1602201/P1601101

6

0A gas at 35 C has it's temperature raised so that its 

volume become doubles at constant pressure then

final temperature will be.

35

velocity and critical velocity

where as water does not. Why ? 

If ratio of two specific heat of a gas is 1.4 and 

R =0.0808. Find the value of each specific heat

capacity.

OR

OR

8.

5 1601101/1602201/P1601101

(vii)

(vii)

(viii)

(vi)

When source of light is at infinity the wave 
font is 
(a) Cylindrical
(b) Plane
(c) Spherical
(d) None of these

(a) Amplitude µ Intensity

(b) Intensity µ 
Amplitude

2
(c) Intensity µ (Amplitude)
(d) None of the above

P.T.O
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Define factor of safety (F.O.S.)

Write the relation between 1mand 2m.  21

aaw if m=3/2 and m=4/3 then m =? gg w

1m2m 2 1

OR

6.

4

GROUP  - C

6 x 5 = 30
Answer all Five Questions .

State and explain first law of thermodynamics. Write
the relation between different  specific heat of a gas.

7.

6
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(viii)

(ix)

(ix)

(x)

(a) Waves are in different phase
0

(b) Waves are in 90 phase difference 

(c) Waves are in same phase

(d) None of these

Intensity of laser beam is 

(a) Less than the intensity of ordinary  

      visible ray.

(b) Larger than the intensity of ordinary

      visible ray.

(c) Negligible small 

(d) Fluctuating with time to time

NT12001
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pumping means.
(a) Pumping of air
(b) Pumping of water
(c) Pumping of proton
(d) Pumping of electron.

In photo electrical effect which statement is 
true. 
(a) Photon comes out from the metallic 
     surface
(b) Proton comes out from the metallic 
      surface
(c) Electron comes out from the metallic 
     surface
(d) None of these

(xi)

(xii)

(x)

(xi)

P.T.O
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4
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Define LASER.Write the application of it.

Define pumping and stimulated emission.

 

Write about interference of light.

 

OR

4.
4

5.

OR
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3.

Answer all Five Questions.

Give any four uses of X -ray.

X -

length of ray emitted.

X-40KV

If energy of photon is 3.3ev, calculate its frequency.

3.3ev 

OR

OR

4 x 5 = 20

2.
4
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(a) The payment of a labour about his work.
(b) Work done by the applied force. 
(c) The minimum energy required to free the
     electron
 (d)  None of these

8
If frequency of a ray is 8 x 10Hthen energy z 

will be
-15 

(a) 529.6 x10J
-15

(b) 5.296 x 10erg
-14 

(c) 5.296 x 10J
-15 

(d) 5.296 x 10J

(xii)

(xiii)

(xiii)

(xiv)

NT12001
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5.296x10

 5.296x10

 5.296x10

-10(a) 10 cm
-12

(b) 10 cm
-8(c) 10 cm

(d) None of them

 10 cm

 10 cm

 10 cm

 

In the production of x-ray the target plane is

-----------to the path of electron beam. 
0(a) 45
0(b) 90

0
(c) 180

(d) None of these

(xv)

(xv)

(xvi)

(xiv)

P.T.O
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(xx) Which is correct relations among

 g= young's modulus

 h = modulus of rigidity and 

s  =  poission ratio

(a) g=2h(1+s)

(b) h=2g(1+s)

(c) s=2g(1+h)

(d) None (a) and (b) 

 

 

 

NT12001
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(xviii)

(xix)

(xix)

P.T.O
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T L .
L

T L .
L

T
 L

.L

(a) 

(b) 

(c) 

(d) None of these
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X-

 90

180

 

50000V what will be energy of an electron.
-15

(a) 8 x 10erg
-15

(b) 8 x 10Joule
4 

(c) 5 x 10Joule
(d) None of these

 

V

 8 x 10Jule

 5 x 10Jule

 

Which of the following can be deflected by
magnetic field?
(a)  X-ray
(b) Ultra violet rays
(c) Radio wave
(d) Beta rays

(xvii)

(xvii)

(xviii)

(xvi)

NT12001
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